Condihonal ’Pro\oab(lfm

Braast Cancer Among\ Women A-ﬁco\ 40-50

" P( breast C’anCe'(‘B = 0.8% = 0.008

'?(Pos. mam. , given breast cancer) = 90% = 0.9

 P( Pos. mam. ﬁ(ven no breast cancz»r) = 7% =0.07

Question i P( , 3\'\/€h y="7

Sﬁa{-eglsi Considey h:jpoﬂneh'ca\ PoPula‘Hon of 1000 tpomen

* How man (expecﬁo( +o) have breast cancer”

(0.8% ) (1000) = (0.008)(1000) = §

B.Concer | No B. Cancer| Totul
Tos. Mam.
Neq. Mam
Total 3 792 1000

-Of those pith breast cancer, how many ( expected +o)

have «a Posi‘l‘iVe mammogram?

(90%)(8) = (0D(8) = T2 =7

- Of those without breast cancer, how Manﬂ [exPec+eo! +0)

have a Y)OS(‘H\/& mammogram ©

(7%) (992) = (0.07)(992) = (9.44 = (9

B.Concer | No B. Cancer| Totul

Pos. Mam. ! 69
Neg. Maom
Total 3 792 1000




Fill

n -

B.Concer | No B.Cancer| Totul

Tos. Mam. I ©9 76
Neq. Mam | 923 924
Total 9 792 1000

P( b. cancer, given pos. mam.) =

S wnmany

The mammogiam test has a 0% Hrue Pos(h‘vﬂj rate, Irneam'ng
thot  a

Looman , the
0% of the +me. (Also called “Ser\S('HVH'j" of 4est)
— This doees NOT mean +thot f a woman

she has a 90% chance of

For a woman behoeen the ages of 40 2 50
* The Pro\oa\o(\dB that she has lveast ancer is Yoo (-8%),
* However, if she has , the probalbility
that  she increases o Voo (%)

Ad-ivi‘rﬂ #4 + Condihonal Probs. in Real Life

Question Plon olmss, given pos. fest) ©
S-hrod—fgaai Consider h3p0+hehca\ Population of 10,000 §

make o contingency table.
On 'Dmgs Not On Prugs Total
Pos. Test |® © @
Ne%. Test |® ® ®
Total ) @ 10,000




